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EE 341 - Quiz #2
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Name (please print): 


              The last four digits of your SSN: 
1. Consider a three-phase feeder shown below: 
[image: image1]
The load bus voltage VR is maintained at 1.386 kV (line-to-line). Compute the complex power supplied by the source and the power factor of the source.
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Load #3:


    180 kVA


     p.f. = 0.0 leading





Load #2:


    240 kW


     p.f. = 0.8 lagging





Load #1:


    300 kVA


     p.f. = 0.9 lagging





Source bus





“No aid is given, received or observed”         Signature_____________
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